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1
Introduction
In previous RAN4 meeting [1] a WF for sTTI NO/OFF time mask was agreed with some open issues. 
2
Discussion

One of the open issues is the length of transien period between sTTIs, see Figure 1. This transient period is only allowed incase there is power or frequency change between the sTTI’s. If neither of these changes occur, then x=0 us [1] this should be captured in the specification. RAN1 has asked feedback from RAN4 on feasibility of having power or frequency change between the sTTIs. RAN4 has not yet agreed what to repond to RAN1 but in [2] there was a statement that 
· Baseline proposal can be: 
· If DMRS symbol is shared over 2 consecutive sTTIs, the UE output power level should be the same level.
· If DMRS symbol is shared over 2 consecutive sTTIs, the UE bandwidth allocation should be the same.
If the above baseline proposal is agreed then RAN4 do not need to discuss the period of x as it will be always 0 us.
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Figure 1: Transien period between concecutive TTI’s

However, if power and/or frequency change is possible between concecutive sTTI’s RAN4 needs to agree the value of x. For 1ms TTi for LTE the x=40 uS so that it is divided equally 20 us on both subframes, this requirement was introduced in [3]. However loqically thinking one transient period should be enough at the boundary as UE knows the power of the next sub-frame ans go the directly. Reason why RAN4 decided to specify double transient period in not known as in the meeting preceeding the decision of double transient the proposal was still single transient [4] see figure 2.
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Figure 2: Transien period proposal from [4] to concecutice PUSCH.
Hence in our opinion for concecutive sTTI with power and/or frequency change the complete transient period between the subframes should be equal to the period of t1. Transien period should be divided equally between the sTTI’s.
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Figure 3: Period of “x”
3
Conclusion

In this contribution we make following proposal.
Proposal: For concecutive sTTI with power and/or frequency change between the sTTI’s the complete transient period between the sTII’s is equal to the period of t1[1]. Transien period should be divided equally between the sTTI’s. 
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